EARAROBREBRT —5 XN—ZXBISH—F

202338218 (X) 5SEIEES4H

Y C3= YS5R4mt BN R
[AE%) 1 &:500,000  ~ 237#&:200,000  337%&:125,000H  43#%&:75,000H 53 :50,000 ™
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
= = v 4 | THRE 1:34.6 2-2-2-2 [39.9| - 1 529 | BALBE (FEk)
118107177~ 5.0 o (3 | B hreRA—LT TR
RiRSAVYF B:T—5F4735 BEXERUS
=1 49 | MKl 1:35.0 1-1-1-1 | 40.4| — 5 464 | XIBEE (EM)
] 4| TETS 54.0 21/2) 3 |8 F—ILPRZMEE
RFZIWFNTV2 B:NUT—YIT U5 &S
t 6 | BEHE= 1:35.1 4-3-3-4 | 40.3| - 4 | 458 |PEE (EH
3[1]1|F2—ILIEE 54.0 (172 ) |EER=
RiXAY 3o LYY B:Fa—)LIFUR AT
v ~ 7 | BAEES— 1:35.6 9-9-3-3 |40.5| - 7 | 450 |LUTTEEE (FEER)
485 Ny E=NFITY * 54.0 @ @5) W 57— hEYay
RiVELIF— BNVIE—HY e
IS 5 4 | WAEFEE 1:36.1 6-6-6-6 | 41.0| — 8 503 | =BEZ (EH)
5 6| XM¥avvvIO = 56.0 3) @5 | ) Tr—2bhevay
RiXAYIVTLYY BIUET«F—L BIEI7—L
S KFFEEH : -5-7- - |4 (FakR)
cBl 3 Tv7LR7O- 7% s e © e |k
R:O—IVIUY 8:2R/5—bkb w77 —L
o ZmER : -3-5- - WORE (FEks
717] g | ZU/EF N B4 e 1(73?:)6 3-3-5-5 | 41.7 3 (4_445) P ()
RT—IURI—R B:=5AHhFA HRAat FERT =TI
o~ L 6 | IRER 1:36.8 10-10-9-9 | 41.0 | - 9 419 | ENSTE (BH)
EH )| Ae=le = ! 4.0 (1°1/4) @ | . Ir—2bevay
Ri/ITURN B:IPIRFa—) #HEI77—LA
— ERER : -7-8- - WF=ES (EH)
9lglg| PR=vTILU—IL it 4 s 1.(317).0 7-7-8-8 | 41.6 2 (4+559) :@#5@?
RiFA IRV v— B:PIZUvadlb SRS
< A R 6 | BBE#T 1:37.9 8-8-10-10 | 42.3 | — 10 433 | LLoTIEEE (FEkR)
10177 AVTYRITIARA i 54.0 ©) 42 | 0 Ir=2tEvay
KU BIALFTITa HFAVART YR
@ 11— —BERIEI
13—7F— 4,10,8,1,3,6,9,7,5,2
20— — 4,10,(1,8),3,6,9,7,5,2
BEIES /S 4,10, (1,5),8,6,3,9,2,7
40—7F— 4,10,5,1,8,6,3,9,2,7
o ILRE
BB 10 110 JA R 4-10 310 & 4-8 5004 3ER 1-4-10 1,510
B B 10 110 1-10 310 5 & 4-10 620 3Es 10-4-1 3,350
4 2004 1-4 1,260 oS- 1 10-4 760M
1 210

ABIC OV TRUTEREERRODDZE. THRIIZEL.




